
Beth has 74 crayons. She gives 25 of them away to Jen. How many
crayons does Beth have left?

29 birds were sitting in a tree. Some more fly up to the tree. Then
there were 142 birds in the tree. How many more flew up to the
tree?

114 birds were sitting in a tree. 21 more birds flew up to the tree.
How many birds were there altogether in the tree?
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Answer the following question
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Misha has 365 dollars. How many more dollars does she need to
earn to have 500 dollars?

 Sarah has saved 215 dollars for a school fundraiser. She needs to
reach her goal of 300 dollars. How many more dollars does she
need to save?

 David wants to buy a new bike that costs 150 dollars. He
currently has 95 dollars. How many more dollars does he need to
save?ng in a tree. 21 more birds flew up to the tree. How many
birds were there altogether in the tree?
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There were 22 girls, 30 boys, and 4 teachers in the school
auditorium. How many students were there in total?

There were 18 boys, 25 girls, and 2 teachers in the classroom. How
many children were in the classroom altogether?

On a field trip, there were 31 boys, 26 girls, and 5 chaperones.
How many children were on the field trip?
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Playground Fun
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 There were 120 sheep in the farmer’s field. 45 of them were
moved to another field. How many sheep are left in the field?

The farmer had 90 cows in the barn. 15 of the cows were taken
out to graze. How many cows are left in the barn?

There were 85 chickens in the coop. 20 of them were moved to
another coop. How many chickens are left in the original coop?
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Animals on the Farm



Cindy had 41 pieces of candy. She ate six pieces in the morning,
and twelve more pieces in the afternoon. How many pieces of
candy does she have left?

Robert wants to practice goal kicks for soccer. He decides to have
98 kicks before going home from the park. He takes 43 kicks
before taking a break to get a drink of water. He then takes
another 36 kicks. How many more kicks does he need to make
before he goes home?

Cindy has 105 stickers. She uses 23 stickers. She buys 45 more
stickers. How many stickers does Cindy have now?
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Animals on the Farm



On the first day of the week, Pat had 139 stickers. Pat earned 22
more during the week. How many stickers did Pat have at the end
of the week?

Kelly had 56 apples. How many more apples does Kelly need to
pick to have 105 apples altogether?

Todd has some gum. Steve gave him 16 more pieces of gum and 4
chocolate bars. Now Todd has 54 pieces of gum. How many
pieces of gum did Todd have to start with?
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